I ﬁ
s TE _ 20 DD i
Ges. €0 "’7"’“ -<;Za250: 7 - 15
)
Cos @0 ’:____/_/{_:4/ B

Duidl + cosut= | .
/ e g

s e |- puld => Cos

Cos K=
oz
o Iz <13

SecX= Hﬁp 5 . ]
il ST A
Qo X _ ‘)6/@ =




.
54X

‘V/ﬂ; pfjg:

..96#2‘/
Jaaéf— =

F i “Zﬂg 25 (250) v = 042 (251x) = 10% +04x

>/:l ‘Vzag 'Zl/ﬁ)( >/: 0;571)(
Y= J0%+0 42X 10’6 +042x = 05FX i JQ—%:};QM
),,_ 0'%7x [0'5 = 0;'37)0-67}4/2)( 045
10%= 045x
>/:: 0%?}( = 0%?025,3: j()j_g g

A & M-+ MM = Q+IGQ£5 —
IOQ 5 loﬁ ﬂa.(m = 026}6 :JC) L::?g_a.u_
= RN P T2 -
= ;/504-&
Cz: a m — &= “ﬂ'm L I"géq = -*——""’"C =

Q@Y’l;m o = a.—#l_‘)-&[: 9?54920-{-f5: é@w




2 L 2
A = 19+C”;€LC C_cv_sA

2 2
ot (B3 Ut~ 2. (81211 coS 43" = Jooi5

a- |21007%5 = 145 m

L it s

ﬂw'ero ceuocer A
2 2
L2, % =8 be cos A

=

(1
COSA-:: . =
- 29030

c’ua"(jz? = /.-350

ﬂ - Arcos

2. 2 2 5
0 = 40 + 30%< 2.490:30 <@

i

10°~q0%-30"
Ll T

< A




